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NoTe:— Answers may be written either in English or in
Hindi; but the same medium should be used
- throughout the paper.

feutt:— 5@ 59997 &7 I FAS AT (<t fFEl wF
oI 4 e AfFT qt W F AT F @
g TR | ; ;

Attempt all questions. All questions carry equal marks.
Use of simple calculator is allowed. The time value
; tables will provided to the students.
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1. (a) “Wealth maximization is a superior criterion than
profit maximization.” Do you agree? Give
reasons. Sog
3:: FfFadfiar ©F TR HUGUE § AN

YHTHFO H 17 T dY GEAd €7 HWO

i | 8

(b) A finance company makes an offer to deposit a '

sum of Rs. 35,000 and then receive a return of Rs.
3,960 p-a. perpetually. Should the offer be
acc?;?ted if the rate of return is 12% p.a.? Will the
decision change if the rate of return is 11% p.a.?

Teh fod St 35,000 To F IHA SHT o o
FHA T& 3,960 To Ffqad amqdt I T NG F )
21 afg at # QW 12% Aead 3 @ oF w
YEE AF A AT ? afe awEt @ ow 11%
sfterd & A R swe foig seam 2 7

Or (31ga)
(a) What are the major financial decisions taken by
finance managers? ,

fereftar werues = ed faeita Foofa & @y 22 3

(b) Ramesh rented a house for 7 months at the rent
OF Rs. 3,923 per month. Entire money is lying with -
him. He now plans to invest this money @ 9% p.a
to get Rs. 65,000. For how many years is t1.1e:
deposit made to realise the desired amount?
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W ¥ 3,923 o Wi WTE ¥ 7 WE H fad wEHA
mﬁmmnw&mm%wr@rénﬁ
ww 4 = 9% Whead & frErw X 65,000
ot 3 A A @ 1 difsd wE T & oy 3

et % fog o N A2 0

2. ABC Limited has a machine with an additional life of 5
years which costs Rs. 10,00,000 and has a book value
of Rs. 4,00,000. A new machine costing Rs. 20,00,000
is available. Though its capacity is same as that of the
old machine, it will lead to a saving in variable cost to
‘the extent of Rs. 7,00,000 per annum. The life of the
machine will be 5 years at the end of which it will have
a scrap value of Rs. 2,00,000. The income tax rate is .
40% and as policy the firm does not make an
investment if the yield is less than 12% p.a. The old
‘machine, if sold today, will realize Rs. 1,00,000; it will

" have no salvage value if sold at the end of 5 years. The
company uses straight line method of depreciation.
Capital gain on sale of old machine is also subject to
the tax rate of 40%. Advise ABC Limited whether or
not the old machine should be replaced.

| ABC fiio % T uw Wi & frwe sheAewe 5 ad
3| 39s @I § 10 W@ Fo HR IFH THE A 4
ETT@'SO%IZUWEO& ww T " U
aaiﬁssawﬁwaﬁmwrwﬂ?mﬁé%m
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T @ WEA § 1 AT W S s 96 3 R (if) Profitability index at 12% discount rate.
Wi W IGH WA I 2 A To ¥ A W S R ffo T 7 TRASAT H Tl FH A fER
T 40% %1 o 3 Afa } 5 129 wead ¥ W R @ 2, fest 9 @ 7.5 @ Fo, NS A 6
M W T faw T S 8 AR e 3 I A af § au W@ @ A | HA B R A A
Wt W ¥ TF @@ To frekt qmr 5 9 wwe 40% ? st a® qeEE W i Y@ g W
4 A R S @ T Y A e e i w3 (e A W A @ et
el Y@ vela & WA S @ | g a5 ~ (PBDT) @ f= &
W YS AW W F R 40% B | ABC filo #t wem | i %o
| A fF et wi e A S A 15 : 1,50,000
. or(wam | : 2,00,000
(a) R L-i‘mited is consideril'lg t(') instal a new project 3 225,000
costing Rs. 7,50,000 with life of 6 years and no
salvage value. The tax rate of the company is 40% 4 2,50,000
and it uses straight line method of depreciation. R 3,00,000
The estimated profits before deprecxatlon and tax
(PBDT) are as follows: ‘ ; 6 4,00,000
Year | Rs. S AT FA T
1 | 1,50,000 (i) TUE sprEE sEt
coibbe, 200,000 i) 12% R W W W ST R 8
i z’zg,ggg (b) When do NPV and IRR give conflicting rankings
5 3’00: 000 | in capital budgeting? Explain with examples.
6 4:()0:000 qsit swfén & NPV @1 IRR %9 EEIHD Ao %%7'
You are required to compute: ¥ ? HRT WY |
(i) Payback period e
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3. (a) Calculate Weighted Average Cost of Capital
(WACC) both by book value and market value st wfaed 3 %o Wi w &1 fer wnwiw <
‘weights from the following information: 3 T W 35% wif | 8
(7]
8% Term loaﬁ Rs. (b) Define Leverage. What are the different types of
9% . 12,00,000 leverage? Explain them with example.
6 Cumulative preference share 3.00.000
capital fi e &t afta A e & e TR
- |Equity share capital (1,00,000 shares) | 10,00,000 7 ¥ ? 3% WSRO qHAE | 7
Retained earnings 15.00.000 ] Or (37er@m)
: Y, r
Tot : : : S
! _ 40,00,000 : The following are the data regarding two companies P
The market value of equity shares is Rs. 30 er and Q belonging to the same equivalent risk class:
:‘ari- The company pays a constant dividend of Particulars Company P|Company Q
: ;qv per share every year. Assume tax rate @ Number of ordinary shares| 90,000 1,50,000
0. . ' : 0
Market price per share Rs. 1.20 Rs. 1.00
frafafaa I ¥ yew T I SR I 6% Debentures Rs. 60,000 s
I qSt #t Wi stea wnr (WACC) =i Profit before interest Rs. 18,000 | Rs. 18,000
T EF'":?I'Q: 6 '
' : All profits after debenture interest are distributed as
| Fo ¢ dividend. .
1 8% Qary Fur 12,00,000 ‘ You are required to explain how under Modigliani and
9% W9F AU 37y qgft 3,00,000 gi;ller Ap];roz?lciht,) axl; irtlvestcf)ftbholdihntlgh.IO%h.sh;rTS. in
. T = mpany P will be better off by switching his holding
HEAT A Gt (1,00,000 39 10,00,000 to Company Q _
sfaaia 15,00,000 ; : ‘
i 40’00’000 wged Sifgw Svt @t & wwfwEl P AW Q ¥
i wrafeg afse e ©

mmﬁwwupsoaoqﬁrmg,

. T Q.
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faaor O P | wW Q

HHET A9 1 & 90,000 1,50,000

SR e qfq 9 %o 1-20 | Fo 1-00
6% U9 %o 60,000 -

|5 ¥ IR Y To 18,000 | To 18,000

FOYA W A & TeEq @t it ) araier F frafa
& e s # "

mva%mm'%mmﬁaﬁqmamﬁm'

Arm & aqeia, P wwt ¥ 10% W @Y A

fraws == @ & R sy ol W wR Q
CHSEXE

15
4. (a) Calculate the pri
o price per share as per Walter’s
Earnings of the com
pany Rs
Dividends paid Rs 195;)(:)0 ;)(::)O
Number of ordinary shares n
outstanding
Price earning ratio 3,(;01;200
Rate of return on investment 137
: (7]

Are you statisﬁed with the current dividend policy
o.f .the firm? If not, what should be optimal
dividend pay-out ratio in this case?

ale Afsa § wfa 3w qeu frafan:
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SR = EFF!ﬁ %o 15,00,000
—— %o 9,00,000
ismprien PP — -3,00,000
S — 8.33
frary W aE ® i

s e @ e e A 3 e
afs T, A T T A T S A

A SO B e ? ' 8
(b) What are the various determinants of dividend
policy of a firm?

o o ity Aifa & fafe frafes #0E? 7

Or (Jgan)

‘(a) Assuming cost of equity is 11%, rate of return on
investment is 12% and earnings per share are Rs.
15, calculate price per share by ‘Gordon Model’ if
dividend pay-out ratio is 10% and 30%.
7@ WA g 6 T R AW 1% 3, fEW W
St 3 T 12% ¢ qm @ sfa W 15 ¥o 2
aitéq wee’ @ S W qed @ W AR
Ui STl ST 10% @ 30% € B

(b) What is meant by stable dividend policy? Explain
the methods of maintaining stability in the
payment of dividend. ~

.

P.T.O.
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5. ABC Ltd. is planning to sell 1,80,000 units next year.
The expected cost of goods is as follows:

Cost per

: " unit (Rs.)
Raw materials -
- |Direct labour - 5

Overheads (including depreciation of 15
Rs. 5 per unit) :

Total cost 40
Profit : 10
Selling price s dlis 50

The following is the additional information:

Raw material in stock
Work in progress

Finished goods in stock
Credit allowed by suppliers
Credit allowed to debtors
Lag in payment of wages
Lag in payment of overheads Average 12 month

Average 12 month
Average 1 month
Average 1 month
Average 2 months
Average 1 month

75% of goods are sold on credit basis. Cash in hand is
expected to be Rs. 20,000. From the above

Average 2 months

11 7035
information, you are required to prepare a statement
showing working capital requirements of the firm.

ABC fdo 3ot & 1,80,000 s&msal a3 = drem
@ Q| W Wt e B

o e
e 5 v 5
‘_W(S %o Hﬁmﬁw 15
F AT &
I 10
RERE I 50
Frefefe sifafter et & ¢ 3

RIS 7wt gmt 3itga 2 W
F1 yf W 34’}831/2’413
Vs ¥ R are st 1 T
W’iﬁfﬁfa’fmaﬁqﬁm aﬂ'g'almg
SRR F s A sitea 2 W
S STt F foer st 1 W
SURerg &t st F faem st 4 e

75% W& 39X T a=r S @ T AFT 20,000 Fo

At @

2T
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© 3T gE ¥ A W & sriwa st @t
servARH F feEn gy faaw dam waE 15

: . Or(¥rgan)
Write short notes on the following (any three):

‘(a) Cash Budget ‘
(b) Reorder Point for Invent;)ry :
(c) Credit Policy
| (d) Opérating Cycle.
Pt 5 A Faet d T AR fo AR
(a) A T =
(b) m@%m@:‘mﬁa@
(c) &m@ fifa '
(d) SRETEE 95 | _ 15
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